
 
                         s]/fjf/L ufpkflnsf 

ufp sfo{kflnsfsf] sfof{no, df]/* 

lznaGbL b/efpkq cfJxfgsf] ;'rgf 

  ;'rgf g= 5                                              - k|sflzt ldlt M 2075 .01 .07              

 
o; sfof{noaf^ tkl;ndf pNn]lvt vl/b sfo{{ u/fpg" kg]{ ePsf]n] O{R%"s O{hfht kq k|fKt cfk'lt{stf{af^ lgDg ;t{x?sf] 

clwgdf /xL l/tk'j{ssf] lznaGbL  b/efpkq cfJxfg ul/Psf] % . 

zt{x?M 

1=O{R%"s of]Uotf k"u]sf  b/efpkqbftfx?n]  21 j};fv 2075 sfof{no ;do leq o; sfof{noaf^ k|To]s cfO^dsf] ? 1000 

lkmtf{ gx'g] ul/ tkl;n gub} lt/L gubL /l;bsf ;fy cf=a= 2074.075 sf] nfuL gaLs/)f ePsf] O{hfht kq, :yfoL n]vf 

gDa/ tyf d'=c=s/ btf{ k|df)fkq / cf=a= 2073.074 sf] s/ r"Qmf u/]sf] kqsf] k|dfl)ft k|ltlnkL ;+nUg /fvL af]nkq / 

b/efpkq o; sfof{nosf] of]hgf zfvf af^ v/Lb ug{ ;lsg]% . 

2=  lznaGbL b/efpkqx? 22 j};fv 2075 lbgsf] 12=00 ah]   leq btf{ u/fO{ ;Sg"kg]{% . pSt lbg ;fj{hlgs ljbf kg{ 

uPdf ef]nL kN^ lbgsf] 12=00 jh] leq btf{ u/fO ;Sg" kg]{ % . k|fKt  b/efpkqx? ;f]xL lbg lbgsf] 1=00 ah] sfof{nosf   

k|ltlglw,  b/efpkqbftf jf lghsf] k|ltlglwsf] pkl:ytLdf o; sfof{nodf lgofdfg";f/   vf]lng]% .  b/efpkqbftf jf lghsf] 

k|ltlglwx? pkl:yt gePdf klg pQm  b/efpkqx? vf]Ng jfwf kg]{ %}g .  

3=b/efpkq ;fy tkl;ndf pNn]lvt w/f}^L jfktsf] /sd s]/fjf/L ufpkflnsfsf] gfddf /x]sf] Pg cfO ;L Pl;of j}s lj/f^rf}s 

zfvfsf] w/f}^L vftf g+ 56 CA 501423524007 df bflvnf u/]sf] ;Ssn ef}r/ k]z ug"{kg]{ % . 

4b/efpkq ebf{ k|To]s cfO{^dsf] b//]^ c+s / cIf/df :ki^ x"g] ul/ n]Vg" kg]{% . c+s / cIf/df km/s ePdf cIf/df 

n]lvPsf]nfO{ dfGotf lbO{g] % .  

5=/Lt gk"uL jf Dofb gf#L cfPsf  b/efpkq pk/ s"g} sf/jfxL ul/g] %}g . 

6=btf{ ePsf  b/efpkq cf+lzs jf k')f{?kdf l:js[t ug]{ jf cl:js[t ug]{ ;Dk')f{ clwsf/ o; sfof{nodf ;"/lIft /xg] % . 

7=b/efpkq k]z ubf{ k]z ug]{sf] kqfrf/ &]ufgf, ;Dks{ kmf]g g+=,  :ki^ ;+u n]Vg"kg]{ % .  

8=o; ;DjlGw cGo s"/f j"em\g" k/]df sfof{no ;dodf ;Dks{ /fvL j"em\g ;lsg] % . 

8=o; ;'rgfdf pNn]v gePsf cGo s"/fx?sf] xsdf k|rlnt :yfgLo lgsfo cfly{s k|zf;g ;DalGw lgodfjnL 2064,;fj{hlgs 

vl/b P]g 2063 / ;fj{hlgs vl/b lgofdjnL 2064 adf]hLd x"g]% . 

 

tkl;n 

l; 

g+= 

;fdfu|Lsf] gfd kl/df)f n O /sd Eof^ 

jfx]s  

w/f}^L /sd 

1 Pg=kL=3 cx\o'd kfO{k @450mm, 

600mm, 750mm) 

s|dzM 46 yfg, 36 yfg, 20 yfg . 13,22,559.27 30,000.00 

2 kL= P= ;L= On]S^|Ls kf]n 9=00 

dL^/ nDafO{ 

107 yfg 8,66,653.44 20,000.00 

3 P ;L P; cf/ s)*S^/ O{n]S |̂Ls 

jfo/ 

26,200 /=dL= 13,26,392.59 30,000.00 

 

                           k|d'v k|zf;sLo clws[t 

 
 
 
 
 
 
 

 
 
 
 
 
 



 

        


